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E4 Binomial Expansi@
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In the expansion of (x + y)", written in

descending powers of x, the general term
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Now expand (x+3@Using the binomial theorem above:
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Connection between # of terms and the exponent of a binomial:
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Specific Term in a Binomial Expansion:
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Ex.) Determine the seventh term in thel E{)ﬁp&nsioné)f (X + 4)1. N= ‘ \
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Ex.) Determine the ninth term in the expansion of (3 - 2x)4.
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Ex.) Determine the fourth term in the expansion of (3x2- 4y)7.
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Ex.) Determine the numerical cé.)efflm nt of the term with x4 in the expansion of (4 - 3x)e.
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Ex.) Determine the numerical coefﬂment of the term with x7 in the expansion: (3x + 5)20.
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